SECOND YEAR HIGHER SECONDARY EXAMINATION SAMPLE QUESTION PAPER

Part III
ACCOUNTANCY WITH COMPUTERISED ACCOUNTING

Maximum : 60 Scores

General Instructions to Candidates.
¢ There is a ‘Cool off time’ of 15 minutes in addition to the writing time.

e Use the ‘Cool of time’ to get familiar with questions and to plan your answers
¢ Read questions carefully before answering.

¢ Read the instructions carefully.

¢ (Calculations, figures and graphs should be shown in the answer sheet itself.

e Malayalam version of the questions is also provided.

* Give equations wherever necessary.

¢ Electronic devices except non programmable calculators are not allowed in the examination hall
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PART - A : ACCOUNTING(40 SCORE)

I Answer any 4 questions from 1 to 5, each carries 1 score.(4x 1 =4
score)

1 go@ 5 aIveQas agemeslejo 4 G2193ERWEN QAMOO MM,

82eedaimo 1 emad allmo (4 x 1 = 4 eapad)

1. Partners’ salary is debited to .........cc.cceuen..e. Account
a. Trading Account

b. Profit and Loss Account

c. Profit and Loss Appropriation Account

d. Capital Account
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d.geiwm eresvene”
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2. Share of goodwill brought in cash by the new partner:
a. Premium

b. Profit

c. Capital

d. Reserve

2. aJ®1© al808] alemao] @Mz YNNG Alad1®o:
af). @flolwo

enil. e1eEo

avl. gelwmo

Wl. SH@BO @3

3. X and Y are partners in a firm sharing profit in the ratio of 4:1. They
admitted Z into partnership for 1/6 share in future profit. New profit
sharing ratio X, Y, Z

a. 4:2:1

b. 4:1:1

c. 6:4:1

d. 6:4:2

3.4:1 ag)ad @RMAIIOMI@S LI0R0 alBISIN@IB X 9o Y 9o alihogldh806m.
@00l 2PcE®I@3 1/6 aladlmy@® 1Mo GRAIG Z: o18:0810m @) 1G3 QVROIEYE
aJ®1Q 2190 alshlS@3 @Mald™o X, Y, Z,

a. 4:2:1

b.4:1:1

c. 6:4:1

d.6:4:2

4. Loss or gain on account of revaluation at the time of retirement of a
partner will be shared by.............

a. Remaining partners.

b. All partners

c. Retiring partner

d. New partner

4. 3@ aIB:081Q6s 013WEHNT VOO A JMAEYelIMIBTNWo PLIABS Malfo
@ROLIH108 EMFo alIgINO.............
af). GUaH1BBM 18081803,

nil. ag)Bld algndgl:8o
avl. oflEA1E83M 185081
Wl a1 185081

5. Amount of goodwill payable to retiring partner is shared by remaining

5. aoaa83am altho8108” MTICHME DAL ANT3 D wevveeeeeeeeeeeneee.




partners iN..........ceeeuveees ratio.
a. Old Ratio

b. New Ratio

c. Sacrificing Ratio

d. Gaining Ratio

@R IO B3 BUOHIBSBAN altHIS]dU3 als 1.
af). al®® @RMAII®o

mil. aJ®1Y @GP0
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IT Answer all questions from 6 to 7. Each carries 2 score.(2 x 2 =4
score)

I1 6 go@ 7 1160QSS gLl G213i@RWBEB0 QA MM B:d. BIGEIATIMO 2

emad almo (2x 2 = 4 eapad)

6. A new partner is admitted to the firm for 1/4 share for which he
contributes Rs.40000 in cash and Rs.20000 as premium for goodwill. Pass
journal entries. (Hint: Old ratio = Equal)

6. 8@ oMW alB08100 1/4 832000188° VNI INOD ]G3 @Jeaiudlafla),
@M @rwIud 40000 @Gat alemmoe 20000 @Gal @ l@noe
LWIG MVoRINIM §21QYAN. GREM@ af)AF1HUB 0 ldANIDBS:.

MRalN: a9 @RMAII®o = Delyo

7.Raju, Sabu, and Vinu were partners sharing profits in the ratio of 3:2:1.
Vinu retires from the firm. Raju and Sabu decided to share future profits in
the ratio of 7:5. Calculate Gaining ratio of Raju and Sabu

7.8, avosny, ol ag)amlaid 3:2:1 af)am ERMAI®OEMIGI L19R0 o 18515aM
al8»08813:80W1@a. Alad MuOdalmam1ad mlan” Qn(o’lgd. Q0L 0Jo MVIMYQJo

@0ail e19Bo0 7:5 af)Im @RI @3 18515003 @1@20M 5. B 0NOBWo
MLINJAIOMQe GG BRMAIIDo HEMBNIB >

IIT Answer any 2 questions from 8 to 10. Each carries 3 scores.(2 x 3=6
score)

IIT 8 @ 10 aveQes agomeileje 2 6a1B8)@RWRN DOTMBo MAIB:d>.
®9602amlmo 3 éMIQHHW allmo. (2 X 3= 6 emad)

8. P, Q and R were partners sharing profit in the ratio of 5:3:2. On R’s
retirement, P and Q decided to continue the firm in 5:3. They value
goodwill of the firm at Rs.300000. Give journal entry in the books of firm
for treatment of goodwill.

8.P, Q, R agamlaid 5:3:2 ag)an @RaI0alo®om1@s LI10G0 o lehlSam
130815800 1@an. R-0a3 oflealeseNas, 5:3-63 aundaimoe @soom P, Q
a)1aId @1@aomla). 300000 @Gaiwosm” @aIG Munda 1Mo wavtilos
aflei@]esmm®”. ®W” ofled MemMITWlaf” MO INORIOAG o JaH6EB3E]3
BRAND3 af)MBST M@,

9. Write any 3 differences between Dissolution of Partnership and
Dissolution of Firm.

9. a1t 0gloma 1@l g)allsejo MuNOaIMOB]O alldlsjofisejo @onileiss

aBOMEs1ejo 3 QAU LITVEBBUB af)EDH:.

10.Raju and Vinu are partners in a firm. In the absence of written rules,

10.00220)0 al0)o B@ MOIAINOHID A 18081HB61N. GORIIQYLINSS




how the following items will be treated.
i. Profit or Loss of the firm.

ii. Interest on capital

iii. Salary or commission

MAEBBESOS ERRIAUCINI@, MINHY MANIGLBAN DMEBBUY af)sBBOM
OODHI0S0 HalYo.

1 N0 INOMIO3 £10B0 BREEIBIGS Mato.

ii. geiwmomaag aleNw

iii. vomIgo @RELIBIT BN laUD

IV Answer all questions from 11 to 12. Each carries 4 score.
(2 x4 =8 score)

IV 11 go@ 12 0160Q88 ag)ald 6a103i@BUlO80 OME0 M B:d:.

®9e02amlmo 4 eqId allmo. (2x4 = 8 emoqd)

11. Profit for the last 3 years of a firm were: Rs.10000, Rs.20000, and
Rs.30000. Calculate goodwill of the firm on the basis of 3 years average
profit of 4 years purchase..

11.8@ mun2a1mEa®eagd $leom 3 aidauocm eogo: 10000 @al, 20000
@al, 30000 @Gl 4 2IdetiOO® 01068315 3 AIBHUNDED YOOIUOE]
210801903 GRSINOIMOMIG3 MO INON]HF LW NINTE BHEMINIDBD:.

12.X,Y, and Z were partners in a firm sharing profit in the ratio of 3:2:1. X
retired from the firm on 30/06/2022. His capital account showed a credit
balance of Rs.80000. He is entitled to get interest on capital @10% p.a.
The firm had general reserve of Rs.20000. Profit of the firm up to the date
of retirement is to be ascertained on previous years profit which was
Rs.25000. Books of accounts are closed on December 31 every year.
Prepare Capital Account of X.

12.X, Y, Z agyamial 3:2:1 ag)an @omald®om1@3 2100 algs1gam@1md
al081eH8001aamn. X 30/06/2022-m" cundalmomlad alan” aflealay.
@RE300M19a3 geiwm @REDDMEIT 80000 @Gal o@WIG” mioeimday”
$06M1a). BRWIHS” @10% p.a atelwe geiwmomed e1g199om
@RBa0®QME". MO INODIM” 20000 HBal Hald® HBO@ CGUORI00
2mMOWI@BM. 013AdEHNE" 1V AUPEWSS TVNIa INOM1HZ L1080 AN
aldausaBgloel 21980 25000 Galo® @RSITLOIMAIBHIWIEN. af)Lld QIdaH0jo
Wlavosni@ 31-m" @RAHDENE” NJABHUB EHOAY’ HalQo.

X 003 gelwm GRAHVENE G QINIHG .

II1. Answer all questions from 13 to 14. Each carries 5 score.
(1 x 5=5score)

II1. 13 @@ 14 c1eeQSS Ll G21IBYERWBAB0 Q@A MM B:d:.
89e02amlmo 5 emod allmo.(1 x 5 =5 eapad)

13. Write any 5 differences between Fixed Capital Method and Fluctuating
Capital Method

13. aflgw” geiwm o1®1Qo 21060105088 geIw® Ao Gole|Ss
aBO®Es1ejo 5 AU LOTVEBBUB af) D H:

14.List out various adjustments required in the accounts of a firm on
retirement of a partner

14. 8@ a1m081Q6s aloaleneoad 33 VDI INONHF BRBD VNG @D
@ROINVIR0W AW G21E0eMEBBRU3 £NMY" 6 .21Q)d




IV Answer any 1 question from 15 to 16. 8 score.(1x8=8 score)

IV 15 go@ 16 aioowaes agomerleje 1 eansiadlm’ 9emoo M@, 8
emad.(1 x 8=8 eapad)

15. A and B are partners sharing profit equally. Their Balance Sheet as on
31/03/2022 stood as follows.
Balance Sheet as an 31/03/2022

15. A o B o e1n80 @e1ym00 algs1gam algniglegoem. 31/03/2022 eel
@BRAIMGOS MILINIV” a9 D (a]8:0000W @M.
31/03/2022 ee1 enioeimav’ aHlg”

Liabilities Rs. Assets Rs.
Creditors. 25000 Cash at Bank 10000
Bank Loan 170000 Debtors 50000
Bills Payable 5000 Stock 40000
Capital A 50000 Building 200000
B 50000 |[100000
300000 300000

On 01/04/2021, C was admitted as a new partner for 1/3rd share of profit.
The following items were also agreed upon by the partners.

i. C brought in Rs.30000 as his capital and Rs.50000 as his share of
goodwill in cash.

ii. Stock be revalued at Rs.30000, and building at Rs.250000.
iii. A provision for doubtful debts be created at 6% on debtors.
iv. Unrecorded furniture of Rs.10000 to be taken into account.

Prepare Revaluation Account, Capital Account. Balance Sheet.

MNIDW Y@ HUI Rs. @AY 03 Rs.
O@&WIGQY” 25000 |enu0s»leiss alemo | 10000
6N108;” QW) 170000 | awsni®gday” 50000
@RSV BEN6ENE enﬂ%(ﬁaaa GAYIHS” 40000
geiwmo A 50000 O3S0 200000
B 50000 100000
300000 300000

01/04/2021-ar;, C encomlod 1/3-@3 8@ oJ®1@ al@:0s1ow]
@Tc)ocn%e,mgd. 2JAIOSQY88  DHMEBBGoO al®083H U3 @aom“]oe;m%.

I geiwmaoo 30000 @aigoe v’ allad alaclmnow] 50000 @alwo
alemao] O&6N3AQINT.

ii. eRo®e” 30000 @a1wlejo &:g1s0 250000 @Gailejo ajmagelymldam@o
Msom]

iii. MoUoWITYBNOW HSEBUIHBBS B@ QAIYAITVN, »HSHHNIAN@ 6% ag)am
MEBH1@ MYatflH63070

iv. 10000 @Ga1@es co61a]gOmIOD anNBemMajQd:ud dheman1eeIgHnseMo.
2 J3elyMIBEMW BREHVME], PRILM BRADDME MIILIBIV” aH1]” agyanlal
®QI0IAB .




16. A and B were equal partners. They decided to dissolve their business as
on 31/12/2022. Their Balance Sheet on that date stood as follows:-

Liabilities Rs. Assets Rs.
Creditors 15000 Building 30000
Bills payable 25000 Furniture 15000
Capitals: Stock 5000
A 10000 Debtors 6000
B 10000 Cash 4000
60000 60000

They decided to take up liabilities:

A — Sundry creditors

B — Bills Payable.

Assets realised-

Debtors Rs.4000

Furniture Rs.10000

Stock Rs.4000

Building Rs.50000.

Expenses on dissolution amounted to Rs.500
Prepare 1.Realisation Account, 2. Partners’ Capital Account, 3. Cash
Account.

16. A o 1B @ @ely aimogle:gooisan. 31/12/2022 @3 eraimes
enflavlmnay” nﬂ(o‘lgdmsoqﬁ @AIG (oﬂ«s;mom‘lgd. @Y ®lomWenal GRAIMNS

NIDLINBIY” aH19” M (@ )d>00MI @M.

MNIDW Y@ HUI Rs. @AY U3 Rs.
HGWIegY 15000 |6u0ss1eI8s alemo [ 10000
@RS EHOMS Elad 25000 | aweni®gadav” 50000
geiwmo A 50000 GRS 24000000000
B 50000 100000 |25
300000 300000

@RAIG MDWIMHUB oaGHQGHNIMB @IWBMIMI @ : A - o@WIEQE”

B - @nsoeasms mﬂ%lgoeauﬁ.

0lwHHLINY ©21Q @RYMHU3 -

aweniHgday” 4000 @al, an@6m1 2|03 10000 @al, cayows”4000 @al,
o510 50000 @at. al@lajoilsomas ealeinl 500 Gal@owlmamn

1.01066L216NVAHM BRAHDME, 2. alB0E]HEOS PRIM GRAODENE, 3.
Y00H BRAOHDENE" o)A DQIOIHBD:

PART-B- COMPUTERISED ACCO

UNTING (20 SCORE)

V. Answer any 3 Questions from 17 to 20.
Each carries 1 Score.

V. 17 noad 20 ai0oQas agomeslejo 3 6al3i@Bu3en Q@m0 M@ B:d:.
89602amlmo 1 empod allmo.

17. In a business shop, a code number ranging from 1080 to 1099 is
assigned to a product. This coding is an example of type of coding.
a. Mnemonic Code..

b. Block Code.

c. Sequential Code.

d. Secret Code.

17. 8@ enladimay’ Gauda (1@3, 8@ ©@3a jmomIm” 1080 gmad 1099
QIHOQBB BHHIW NMMIA m«saoeﬂmﬂ%m“. MM BHIWloWwy
CHOWoUTOa BB DBaO0MAEM.

a. MEnIaMd: BHIW..

b.empes” eaon’

C. MV 103U @3 CHHIAW

d. a0y @@




18. The function to show current date and time:
a. DAY

b.TODAY

c.NOW

d.DATEVALUE

18. melaNeel ®»loe Qe MVAWAJo HIIM1LEFMDINVBS oN8; AU,

a. DAY
b.TODAY
c.NOW
d.DATEVALUE

19. Which among the following function is used to calculate straight line
method of depreciation.

a. DB

b. SLN

c.PMT

d.PV

19. A NVIe@aum” eMAGOaI AT HEMENISNIND @INY ANBLBaN
aNoW aUMHH @3 a@I6T” DalEWIW BB

a. DB
b. SLN
c. PMT
d. PV

20. In GNU Khata, ledger ‘Cash’ comes under
a. Current Assets

b. Fixed Assets

c. Loans(Assets)

d. Current Liabilities

20. GNU Khata @1@3, eeiowemad ‘@ oau” ------------- QoI &1¥1enem”

Q@AM DY

a. Current Assets

b. Fixed Assets

c. Loans(Assets)

d. Current Liabilities

VI Answer the Question 21, which Carries 2 Scores (1 x 2= 2 Score)

VI 2 eqoqdud 9@Boa9ogsan 21-:00 6alEiamm’ 9@mME0 M@

21. List out any 4 data types available in LibreOffice Base

21.LibreOffice Base-@3 e16y20®@ agomeslejo 4 a0Q @EBU3
215100 |SOD) H

VII Answer all questions from 22 and 23. Each carries 3 scores.
( 2x3= Score)

VII 22 g} 23 gme)e8s af)eld 6a1sianwdase 9@moo MM d:d:.
89epdmimo 3 eaId allmo. (2x3= empaId)

22 ABC Ltd took a loan of Rs.500000 for 24 months from SBI@10% p.a.
interest.

a. Write financial function used for preparing Loan Repayment Schedule in
LibreOffice Calc.

b. Give syntax.

22ABC eNallgar” agyaveniloag@las amlan”’ 24 maveom«os 500000 @al
ee10em af)so @10% p.a. ateflvo.

a. LibreOffice Calc-@3 ceioenmd @1@lajsal’ euaw 408 ©Q000060Md
oalcinlasam financial function ag)g® .

b. Q@ yeeism m@ad.




23. Write the steps to create chart in LibreOffice Calc.

23. LibreOffice Calc-@3 21083" qyaifla8mM@]1mas oLIg6ERU3 af) gD

Answer the Question 24, which Carries 4 Scores

4 eIQaUd DUBOGNIBBAM 24-::90 @218J@TIM’ QWA MAB:d

24. Write any 4 merits of computerised accounting system

24, »ml %gaaocm‘m)“ @RHHVMEloU)” MIINOMIOG o®erelo 4 YeMEEBUI

) QD

Answer any 1 Question from 25 to 26, it Carries 5 Scores.

25 @ 26 a1oeQes agomsileje 1 62108)TIM’ 9o M@BB:@:,

806020710 5 6MIQHUS nllmo.

25. Write the syntax of following spreadsheet functions

a.DATEVALUE
b.COUNT

c. SUMIF

d. ROUND
e.IF

25.0mo Joan D JWaH1g” aoom”osﬁoooe)ge)s QY PLISM nf)ED

a.DATEVALUE
b.COUNT

c. SUMIF

d. ROUND

e. IF

26. Write the relevant ledger account, Group, and function for GNU Khata

26. GNU Khata @1@3 @Jruemnow eeian=a3 @oanmens, @Qad; afowauad

ag)Mm1Al af) gD d.

Transactions Ledger Group Function
Account

1.Started business Cash Current Asset ?
Capital Capital

2. Purchased goods ? Direct Expenses |Purchase (F7)
? Current Asset

3. Paid salary Salary ? ?
Cash Current Asset

4. Sold goods for cash |? Current Asset ?
? Direct Income

5. Deposited into SBI |SBI ? ?
Cash Current Asset

Transactions Ledger Group Function
Account

Lenflaimay” aryeo&l ) Cash Current Asset ?
Capital Capital

2. 2196331 MVIWMEERUY | ? Direct Expenses | Purchase (F7)
? Current Asset

3. mIgo o:osom®” | Salary ? ?
Cash Current Asset

4. avowmesBRud oﬂ% ? Current Asset ?
? Direct Income

5. SBI 0@ mleatails) | SBI ? ?
Cash Current Asset
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